
1)

Answer: ____________

2) Find the median of the following set of data:

23, 32, 32, 3

Answer: ____________

3) Decrease 224 by 5/112

Answer: ____________

4) Factorise x2 + 6x + 8

Answer: ____________

5) Factorise x2 + 6x + 8

Answer: ____________

6) Share 7 in the ratio 3:4

Answer: ____________

7)

'Name the type of angle.

Answer: ____________

8) Find area of triangle
a = 10 cm, b = 11 cm

Answer: ____________

9) Write 4000000 in standard form.

Answer: ____________

10) Solve 19s2 - 1s - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

11) 03:14 am To 05:02 am

Answer: ____________

12) 03:14 am To 05:02 am

Answer: ____________

13) 7/1 x 1/4

Answer: ____________

14) 7/1 x 1/4

Answer: ____________

15) Write 20000000 in standard form.

Answer: ____________
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16) Increase 28 by 1/4

Answer: ____________

17) Increase 164 by 5/82

Answer: ____________

18) Increase 164 by 5/82

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 3 ft

Answer: ____________

20) Find perimeter of 
square having each 
side (s) equals 3 ft

Answer: ____________

21) (0) - (0)

Answer: ____________

22) Write 5 x 105 as a normal number.

Answer: ____________

23) A number was shared in the ratio 
2:8. The smaller share was 6. What 
was the larger amount?

Answer: ____________

24)
9  Find Volume of Cone 

8

Answer: ____________

25) Round 23.104 to 1 decimal places.

Answer: ____________

26) Find area of 
triangle s = 3 in

Answer: ____________

27) Find area of 
triangle s = 3 in

Answer: ____________

28) (-1) x 10

Answer: ____________

29) (-1) - 3

Answer: ____________

30) Find the value of 'f' by completing 
the square of the following equation: 
2 + 8f + 15

Answer: ____________
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31)

A = 67  B
Find the Angle at side B.

Answer: ____________

32) Round 18.627 to 1 significant figures.

Answer: ____________

33) (-3) ÷ (-1)

Answer: ____________

34) Round 24.1 to the nearest 10000

Answer: ____________

35)
Find the next three numbers in 
the sequence
45,50,150,155,465,470,1410__,__,__

Answer: ____________

36) Factorise 2f2 + 9f + 7

Answer: ____________

37) Find perimeter of 
triangle
a = 4 cm, b = 10 cm,
c = 11cm

Answer: ____________

38) Find the value of 'j' by completing the 
square of the following equation: 2 + 
6j + 8

Answer: ____________

39) Find the value of 'j' by completing the 
square of the following equation: 2 + 
6j + 8

Answer: ____________

40) Increase 14 by 50%

Answer: ____________

41) 3/6 - 2/6

Answer: ____________

42) b

a o c
Measure angle boc 

Answer: ____________

43)
Find the next three numbers in 
the sequence
8,10,20,22,44,46,92__,__,__

Answer: ____________

44) 4 + 5

Answer: ____________

45) A number was shared in the ratio 
10:5. The smaller share was 19. 
What was the total amount shared?

Answer: ____________

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

June 05, 2022

Sr: 05062022-2675

 

http://www.geekschool.co.uk


46) 100 ÷ 10

Answer: ____________

47) 34/8 x 44/6

Answer: ____________

48) What would you multiply by to 
increase an amount by 15%?

Answer: ____________

49) 1/8 + 1/10

Answer: ____________

50) Round 29.33 to 1 significant figures.

Answer: ____________

Total: ___ / 50
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Answers:

1) 2) 32 3) 214 4) (x + 2)(x + 4) 5) (x + 2)(x + 4) 6) 1 : 6 7) Right

8) 55cm 9) 4 x 106 10) s = 0.8 or -0.7
11) 01 Hours 48 
Mins

12) 01 Hours 48 Mins 13) 13/4 14) 13/4

15) 2 x 107 16) 35 17) 174 18) 174 19) 12ft 20) 12ft 21) 0

22) 500000 23) 24 24) 150.79644737231 25) 23.1 26) 3.89711431703in 27) 3.89711431703in 28)

29) -4
30) (f + 4)2

- 1
31) 113 32) 20 33) 3 34) 24.1 35) 1415,4245,4250,

36) (2f + 7)(f + 1) 37) 25cm 38) (j + 3)2 - 1 39) (j + 3)2 - 1 40) 21 41) 1/6 42) 156

43) 94,188,190, 44) 9 45) 57 46) 10 47) 161/3 48) 1.15 49) 9/40

50) 30
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